TERTY

Prozentzahlen (fehlende Zahl)

x 80% = 51.2

x 10% =17.1

x 10% = 6.9

x 60% = 57.6

x 40% = 8

x10% =2.4

x20% =17.2

x 40% = 23.2

x20%=19.4

x20% =9.2

Datum: Ergebnis:

x70% = 36.4

x 10% = 5.1

x 20% = 14.2

x70% = 18.2

x 20% = 6.6

x 90% = 88.2

x 50% = 39.5

x 50% =49

x 40% = 34

x 10% = 2.6
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TTRTY

Prozentzahlen (fehlende Zahl)

Name:

64 x 80% = 51.2

71 x10% = 7.1

69 x 10% = 6.9

96 x 60% = 57.6

20 x40% = 8

24 x10% =24

86 x20% = 17.2

58 x40% = 23.2

97 x20% =19.4

46 x 20% = 9.2

Datum: Ergebnis:

52 x70% = 36.4

51 x 10% = 5.1

71 x20% = 14.2

26 x70% = 18.2

33 x20% = 6.6

98 x 90% = 88.2

79 x 50% = 39.5

98 x 50% = 49

85 x40% = 34

26 x 10% = 2.6
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